[ normalized x? probability |

0.4

0.08

0.06

T
©
[=}
=

S o R | )
P N = I [
. . © | [
N o H”H HH” ”WH HH””WH HH”
P P P P . f i
: : Lo I [
P P P P . i i
0.95 0.95H8 . ]
0 2 4 6 8 10 12 14 16 18 20 0 010203040506070809 1
2 Prob(x?)
— “MKFIG_XIMINUS Hew-Towpt
m——— DOM_mkFit_XiMinusNOPU_NEWdefault_specPLess1
— DOQM_mkFit_XiMinusNOPU_NEWdefault_specPLess2
s DQM_mKFit_XiMinusNOPU_NEWdefault_specPLess3
s DOM_mkFit_XiMinusNOPU_NEWdefault_specPLess4
A 3F
—
5 L
2 L
3 2.5F-
< L
v [
2
1.5~
I
0.5~
o +0F
3
o
-
0.95
=3
A A
k=] B
c c
- -
o o
< >
\ \

Ratio
Ratio

107 1072

-1
AR(track, jelts)




	Contents
	Page 1


